=> restart

Sistema| 1]; Sistema[2 ]

d
a x,(2) =2x,(t) + 3 x,(2)

d
E X, (1) =x, (1) + 4 x,(1)

> SolucionGeneral = dsolve( {Sistema| 1], Sistema[2]}) : SolucionGeneral[ 1],

d

t) =
Sistemal| 1 |; Sistema([2]; Si.
- =30

d
E y3(t) :Zyl(t) - 4y2(t) + 6y3(t)
3)); simplify(evalf (SolGralSist[2 ], 3)) : simplify(evalf (SolGralSist[3],3)) :

+0.192 ¢, ™"

> Ecua = diff (y(1), 183) — 6-diff (v(1), (82) + 4-diff (v(1), 1) — 2-9() =0
d’ 4’ d
Ecua = e y(t) — 6—d y(t) +4 -4 () =2y(1) =0

> SolGral := simplify(evalf (dsolve(Ecua), 3)
SolGral = y(t) =c, &' = 1.¢,e"**'sin(0.508 1) + ¢, €"*** ' c0s(0.508 1)

v

restart

AA = array([[2,3], [1,4]])

\%

23
1 4

\%

with(linalg) :
> MatExp = exponential(AA4, t)

> Sistema = diff (x[1](t), t) =2-x[1](¢) + 3-x[2](2), diff (x[2](2), ¢t) =x[1](¢t) + 4-x[2](?) :

SolucionGeneral[2 ]
xl(t)=cjeSI+czet
x,(t) =¢, e’ — CZ;
:> restart
> Sistema = diff (v[1](1). 1) =y[21(2), diff (Y[2](2), 1) =¥[31(0). diff (¥[3](1). 1) =2-¥[1](0)
—4y[2](t) +6-y[3](1) : Sistema(3

> SolGraiSist == dsolve( {Sistema| 1], Sistema[2 ], Sistema[31}) : simplify(evalf (SolGralSist[ 1],

vy (1) = ((0.90629 ¢; + 1.3673 ¢,) cos(0.505 1) + (1.3673 ¢; — 0.90629 c,) sin(0.505 1)) "****
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> IntMatExp = map(int, MatExp, t)

MatExp ==

3e+£ 3eSt_36t
4 4 4 4
S_d e
4 4 4 4

[ > Identidad = map (rcurry(eval, t =0'), MatExp)

Identidad =

(> Inversa = map (rcurry(eval, t = —t'), MatExp)

3e_’+ e’ 3eSI_ 3e”’
4 4 4 4
Inversa =
=5t —t —t =5t
e _© e 4 e
4 4 4 4
> IdentidadDos = simplify(evalm(MatExp &* Inversa))
0
IdentidadDos := {
> DerMatExp := map(diff, MatExp, t)
3¢ 5t Iset 3¢
4 4 4 4
DerMatExp =
5¢" _ it it 15¢"
4 4 4 4
> ProdAAMatExp = evalm(AA &* MatExp)
3¢l 5et aset 3¢
4 4 4 4
ProdAAMatExp = s, ) . s
5¢ e ¢ n 15¢
4 4 4 4
3e[+i _3et+365t
4 20 20
IntMatExp = . s, . )
_e,¢e 3¢ e
4 20 20 4
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